
1. ЧИСЛО И ЦИФРА 8 
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1 + 7 = 8 
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2 + 6 = 8 
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3 + 5 = 8 
 

 

3. ВЫПОЛНИ ДЕЙСТВИЕ СЛОЖЕНИЯ С ПОМОЩЬЮ ФИГУР: 
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6 + 2 =     2 + 6 =    4 + 4 =     

 

                       

                       
 

                       
                       

 

 

       
 
2. СОСТАВ ЧИСЛА 8 
 
 

Обведи, а затем напиши цифру 8 по образцу: 



4. ПРОДОЛЖИ РЯД: 

 

                         

                         

                         

                         

                         

                         

 
 


